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9. | f: (@ -¢)dt = _[‘2; [(s68.5 + 7.15¢) - (525.6 + 6.431)] dt
»
= [, (429 + 0726 dt

= [429t + 0368

= $573 million
Explanations will vary.
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55. Demand: (6000, 331), (8000, 303)

m= 303 — 331 — 0014

8000 — 6000
P — 331 = —0.014(x — 6000)
p = -001dx + 415
Point of equilibrium:
~0.014x + 415 = 0.0275x
x =10,000 and p = 275

Consumer surplus = [ ;a'm [(-0.014x + 415) - 275] dx

= 1% (L0.014x + 140) dx
0

0000
= [-0.007x* + 140x

= $700,000

Producer suplus = [ (275 ~ 0.0275) dx

10,000
= [275x - 0.01375:;1]:
= $1.375,000




